4 2 ]
ITEM NO. PART NO. DESCRIPTION QTY ZONE | REV. REVISION DESCRIPTION ECN NO. DATE
1 38340-003 TETHER ARM 1
2 33029-002 T-BOLT, ZINC PLATE 1
3 MS15795-813 5/16 FLAT WASHER 2
4 25031-001 NYLON FLAT WASHER ] - _ 1 00
5 25030-006 NYLON SHOULDER-WASHER 1 '
6 MS35690-510 5/16-18UNC HEX NUT 1
7 330PP-6321/4L 6-32X1/4 PAN-HEAD SCREW 4 — |
8 330HHCS5/1611/4 | 5/16 HEX HEAD CAP SCREW 1 &N
P/N 31215-002 ] N
+—{ 2XR .225)
- 450
- .79
4.50
400 2.05 = Ee=—5 — )
L/
o Do ‘
O O (1.37)  .02—=—f= (1.55)
O 16X 22.50° ‘
|| | O —l— O ||
O
16X .187 EQ. SP
ON A 2.00 B.C. O S 5 O
O $2.50
D 1.63

ORDER P/N 31215-002
NOTE: THE TETHER ARM, NYLON WASHERS, FLAT WASHERS AND THREE #6-32
SCREWS WILL BE USED IN ALL INSTALLATIONS. EITHER THE T-BOLT OR THE HEX
HEAD BOLT WILL BE USED WITH OR WITHOUT THE HEX NUT DEPENDING UPON
THE INSTALLATION REQUIREMENTS.

UNCONTROLLED COPY

FIRST ISSUE DATE: 04/19/19

DRAWN: DRC
APPROVED; MFB
DATE: 04/19/19

SENSATA TECHNOLOGIES PROPRIETARY AND
CONFIDENTIAL. NEITHER THIS PRINT NOR THE
INFORMATION CONTAINED HEREON IS TO BE USED
AGAINST THE INTERESTS OF SENSATA TECHNOLOGIES
OR AGAINST THE INTERESTS OF ANY OF ITS AFFILIATED
COMPANIES OR WHOLLY OWNED SUBSIDIARIES.

BEI SENSORS

H
W \%
Sensata H 1461 LAWRENCE DRIVE

OUSAND OAKS, CA 93120

Technologies

ECN:

DATE:

INTERPRET DIMENSIONING AND TOLERANCING
PER ASME Y14.5-2009. UNLESS OTHERWISE

SPECIFIED DIMENSIONS ARE IN

INCHES[MILLIMETERS] AND ARE INTENDED AS
NOMINAL SEE PRODUCT SPECIFICATIONS FOR

MORE DETAILS.

TITLE

HS25 R2
TETHER ARM KIT

SIZE | DWG NO.

REV.

]

MATERIAL: CRES STEEL; NYLON

(INSULATOR WASHERS): HALF DO NOT | 11irD ANGLE B 099 ] 7_00 ]

HARD 300 SERIES STAINLESS SCALE @ IEI—

STEEL (TETHER ARM| DRAWING | PROJECTION SCALE 1:1 | SOLIDWORKS | SHEET 1 OF I
DEVICE: PROJECT:




T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

